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RUAPNERIZE T ORGSR EAERFR

FrfEHE : KiLhA2-2-1

SHIERE
AER- R A MER(ATBY 2B | e %
5cm 50cm 100cm

Ot ER (1) 0.07 0.08 — PA-1000
QIEERIZFT1 0.06 0.07 — PA-1000
QR ErRTEED 0.07 0.07 — PA-1000
@R ERRED 0.08 0.08 — PA-1000

/1O B OREITE 0.07 0.07 — PA-1000
@RI TEED 0.07 0.08 — PA-1000
DB 2 0.07 0.07 — PA-1000
@IBEKIHA3 0.07 0.07 — PA-1000
OfliE L 0.07 0.06 — PA-1000
ibis 0.07 0.07 — PA-1000
Ot ER (1) 0.07 0.06 — PA-1000
QIBERIHAT 1 0.05 0.05 — PA-1000
R EMTEED 0.06 0.06 — PA-1000
@R ERRED 0.06 0.06 — PA-1000

0/10K) B OREILTE 0.08 0.07 — PA-1000
OREILTEE 0.09 0.07 — PA-1000
DB G2 0.06 0.07 — PA-1000
@IBEXIGAT3 0.07 0.06 — PA-1000
OfiliEL 0.06 0.05 — PA-1000
15 0.07 0.07 — PA-1000
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RUAPNERIZE T ORGSR EAERFR

FrfEHE : KiLhA2-2-1

SH2EE
MER KR s ARRATRZRMEER | iess th%
5cm 50cm 100cm

Ot ER (1) 0.07 0.09 — PA-1000
QIEERIZFT1 0.08 0.08 — PA-1000
QR ErRTEED 0.06 0.07 — PA-1000
@R ERRED 0.07 0.09 — PA-1000

/8@ R OREITE 0.07 0.09 — PA-1000
@RI TEED 0.10 0.09 — PA-1000
DB 2 0.07 0.06 — PA-1000
@IBEKIHA3 0.06 0.07 — PA-1000
OfliE L 0.07 0.07 — PA-1000
i 0.08 0.07 — PA-1000
Ot ER (1) 0.06 0.06 — PA-1000
QIBERIHAT 1 0.07 0.06 — PA-1000
R EMTEED 0.07 0.08 — PA-1000
@ BER R ED 0.07 0.07 — PA-1000

1/80K) BY OREILTE 0.07 0.08 — PA-1000
OREILTEE 0.06 0.08 — PA-1000
DB G2 0.06 0.06 — PA-1000
@IBEXIGAT3 0.06 0.06 — PA-1000
OfiliEL 0.06 0.07 — PA-1000
15 0.05 0.06 — PA-1000
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RUAPNERIZE T HMAREANERFR

FrFE : K 02-2-1

ERE31EEE
BiE A - FIE I ATR(TAIOY—AEER) | e e
5cm 50cm 100cm

Ot ER (L) 0.08 0.08 — PA-1000
QIEERIZAT1 0.06 0.07 — PA-1000
QR BER FE D 0.10 0.08 — PA-1000
@ BERHRAD 0.08 0.08 — PA-1000

5 0K) BY OREILEE 0.08 0.08 — PA-1000
©REITEE 0.09 0.09 — PA-1000
DBZIHm2 0.07 0.07 — PA-1000
@B EFIHAM3 0.07 0.07 — PA-1000
OfliEL 0.08 0.07 — PA-1000
iz 0.06 0.06 — PA-1000
Ot ER (L) 0.06 0.07 — PA-1000
QBT 0.07 0.07 — PA-1000
R BERI FE D 0.08 0.07 — PA-1000
@ BERHRED 0.07 0.07 — PA-1000

278 (40 BY OREITE 0.08 0.09 — PA-1000
OREITEED 0.07 0.08 — PA-1000
DBEIHm2 0.07 0.07 — PA-1000
@& IZFT3 0.06 0.07 — PA-1000
OflEL 0.07 0.07 — PA-1000
Wiz 0.06 0.06 — PA-1000
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RUAPNERIZE T HMAREANERFR

FrFE : K 02-2-1

T B304 B
BiE A - FIE I ATR(TAIOY—AEER) | e e
5cm 50cm 100cm

Ot ER (L) 0.07 0.08 — PA-1000
QIEERIZAT1 0.08 0.09 — PA-1000
QR BER FE D 0.08 0.08 — PA-1000
@ BERHRAD 0.09 0.08 — PA-1000

18 R OREILEE 0.10 0.08 — PA-1000
©REITEE 0.08 0.09 — PA-1000
DBZIHm2 0.07 0.08 — PA-1000
@B EFIHAM3 0.08 0.07 — PA-1000
OfliEL 0.06 0.08 — PA-1000
iz 0.06 0.06 — PA-1000
Ot ER (L) 0.07 0.07 — PA-1000
QBT 0.07 0.10 — PA-1000
R BERI FE D 0.06 0.07 — PA-1000
@ BERHRED 0.07 0.08 — PA-1000

1/5(K) B OREITE 0.08 0.08 — PA-1000
OREITEED 0.06 0.08 — PA-1000
DBEIHm2 0.06 0.07 — PA-1000
@& IZFT3 0.08 0.07 — PA-1000
OflEL 0.06 0.08 — PA-1000
Wiz 0.05 0.06 — PA-1000
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RUAPNERIZE T HMAREANERFR

FrFE : K 02-2-1

T A 204F B
BiE A - FIE I ATR(TAIOY—AEER) | e e
5cm 50cm 100cm

Ot ER (L) 0.08 0.08 — PA-1000
QIEERIZAT1 0.10 0.09 — PA-1000
QR BER FE D 0.08 0.07 — PA-1000
@ BERHRAD 0.09 0.09 — PA-1000

R R OREILEE 0.09 0.10 — PA-1000
©REITEE 0.10 0.11 — PA-1000
DBZIHm2 0.10 0.09 — PA-1000
@B EFIHAM3 0.08 0.09 — PA-1000
OfliEL 0.07 0.07 — PA-1000
iz 0.06 0.06 — PA-1000
Ot ER (L) 0.07 0.08 — PA-1000
QBT 0.07 0.07 — PA-1000
R BERI FE D 0.08 0.07 — PA-1000
@ BERHRED 0.06 0.06 — PA-1000

/78 EEh OREITE 0.10 0.09 — PA-1000
OREITEED 0.07 0.08 — PA-1000
DBEIHm2 0.07 0.08 — PA-1000
@& IZFT3 0.09 0.08 — PA-1000
OflEL 0.06 0.06 — PA-1000
Wiz 0.05 0.06 — PA-1000
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RUAPNERIZE T HMAREANERFR

FrFE : K 02-2-1

T i 284F B
BiE A - FIE I ATR(TAIOY—AEER) | e e
5cm 50cm 100cm
Ot ER (L) 0.09 0.08 — PA-1000
QIEERIZAT1 0.14 0.12 — PA-1000
QR BER FE D 0.09 0.08 — PA-1000
@ BERHRAD 0.10 0.08 — PA-1000
I OK B OREILEE 0.10 0.11 — PA-1000
©REITEE 0.08 0.11 — PA-1000
DBZIHm2 0.14 0.10 — PA-1000
@B EFIHAM3 0.18 0.14 — PA-1000
OfliE L 0.06 0.07 — PA-1000 FRE29%E1 AAIEM HEN
iz 0.06 0.06 — PA-1000
Ot ER (L) 0.08 0.10 — PA-1000
QBT 0.09 0.09 — PA-1000
R BERI FE D 0.07 0.08 — PA-1000
@ BERHRED 0.09 0.09 — PA-1000
VIRK)EN |OKREILEER 0.07 0.08 — PA-1000
OREITEED 0.08 0.09 — PA-1000
DBEIHm2 0.06 0.07 — PA-1000
@& IZFT3 0.06 0.07 — PA-1000
Wiz 0.06 0.07 — PA-1000
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RUAPNERIZE T HMAREANERFR

FrFE : K 02-2-1

T RR274E B
BiE A - FIE I ATR(TAIOY—AEER) | e e
5cm 50cm 100cm
Ot ER (L) 0.07 0.08 — PA-1000
QIEERIZAT1 0.15 0.14 — PA-1000
QR BER FE D 0.06 0.08 — PA-1000
’ @R EFA A 0.08 0.09 — PA-1000
1 /féz)gﬂgh OREILEE 0.09 0.12 — PA-1000
©REITEE 0.12 0.13 — PA-1000
DBZIHm2 0.06 0.08 — PA-1000
@B EFIHAM3 0.10 0.11 — PA-1000
iz 0.05 0.07 — PA-1000
Ot ER (L) 0.08 0.08 — PA-1000
QBT 0.07 0.09 — PA-1000
QR BER FE D 0.08 0.09 — PA-1000
@ BER AR 0.09 0.10 — PA-1000
790K EY  |OKREILEER 0.12 0.12 — PA-1000
OREITEE 0.08 0.09 — PA-1000
DBEIHm2 0.07 0.08 — PA-1000
@GS 0.05 0.07 — PA-1000
Wiz 0.06 0.06 — PA-1000
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RUAPNERIZE T HMAREANERFR

FrFE : K 02-2-1

R 264F B =T ==
=g . S AR (470 —RN)LEER) —
/E“E H fﬂ; /ﬂ'lIEiﬂ)f—i 5em 50cm 100¢m /,EIIITE%% ﬁ%%
DL ER (1) 0.08 0.10 — PA-1000
QIR RI5 T 1 0.14 0.13 — PA-1000
QX BErE T ED 0.09 0.12 — PA-1000
@ EmREED 0.14 0.12 — PA-1000
1/79(®)BN  |OREILTEER 0.13 0.13 — PA-1000
®REILFEED 0.14 0.14 — PA-1000
DIEERIGFR2 0.06 0.08 — PA-1000
@R ERI5F3 0.07 0.10 — PA-1000
fibi5 0.06 0.08 — PA-1000
Db L ER (1) 0.10 0.08 — PA-1000
QB & I5 T 1 0.08 0.10 — PA-1000
QR EEm L ED 0.11 0.10 — PA-1000
- O E S 0.10 0.10 — PA-1000
R O T 0.14 013 _ PA-1000
OB FEED 0.12 0.11 — PA-1000
DIEERIGFR2 0.07 0.07 — PA-1000
@ E%I5FR3 0.10 0.09 — PA-1000
b1z 0.08 0.07 — PA-1000
O L ER (1) 0.07 0.07 — PA-1000
Q1B EHIG T 1 0.06 0.07 — PA-1000
QR ER P D 0.10 0.09 — PA-1000
R D ERRED 0.07 0.10 — PA-1000
eSO T T 0.13 0.12 — PA-1000
®REILFEED 0.14 0.12 — PA-1000
DIRERIGFR2 0.06 0.07 — PA-1000
@IEERIZA3 0.11 0.11 — PA-1000
fibi5 0.07 0.07 — PA-1000
Db ER (1) 0.09 0.08 — PA-1000
QIR &5 1 0.07 0.08 — PA-1000
QX EEr T ED 0.10 0.10 — PA-1000
- @ ERHEED 0.13 0.13 — PA-1000
ACTRIBN i Es 012 012 _ PA-1000
@®EILFEL 0.15 0.14 — PA-1000
DIEERIZAT2 0.06 0.07 — PA-1000
@R ERI5F3 0.06 0.07 — PA-1000
fibi5 0.07 0.07 — PA-1000
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AUO/PNERIZE TSR ERERR

FrFE : K1 02-2-1

5 254 BE
A - X AEA ARREATR VRS | s %
5cm 50¢cm 100cm
Ot h i ER (1) 0.10 0.10 — PA-1000
Q1B IHFT1 0. 07 0. 09 — PA-1000
Ot EErITEED 0. 14 0.13 — PA-1000
@ EErRRED 0. 24 0. 15 — PA-1000
3/§;L*) OREILEL 0.15 0.14 — PA-1000
OREILFEL 0.17 0.13 — PA-1000
DIREZIGFT2 0. 15 0. 11 — PA-1000
@EERIZEFT3 0. 07 0. 09 — PA-1000
ibis 0. 09 0.10 — PA-1000
O L ER (1) 0. 09 0. 09 — PA-1000
QIR IZFT1 0. 07 0. 08 — PA-1000
QR EErIFEED 0.13 0.13 — PA-1000
@ EErRRED 0. 11 0. 11 — PA-1000
2/%%*) OREILREED 0.14 0.13 — PA-1000
@RELFEL 0. 07 0. 08 — PA-1000
DB G2 0. 06 0. 07 — PA-1000
@®EERIZEFT3 0. 07 0.10 — PA-1000
ibi5 0. 07 0. 07 — PA-1000
Ot ER (1) 0. 09 0.10 — PA-1000
QIR IZFT1 0. 07 0.08 — PA-1000
QR ERTEED 0.13 0.14 — PA-1000
ToeE | DRERRH 0.22 0.14 — PA-1000
1/$8<7l<) OB EILERED 0. 14 0.13 — PA-1000
A @RELTEED 0. 15 0.13 — PA-1000
DIRERIZFT2 0. 11 0. 09 — PA-1000
@IBEXIHAT3 0. 09 0. 11 — PA-1000
15 0. 08 0. 08 — PA-1000
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AUO/PNERIZE TSR ERERR

FrFE : K1 02-2-1

5 254 BE
AER- X A AERATAL VBT | g s
5cm 50cm 100cm

gt ER (1) 0.12 0.12 — PA-1000
QIEERIZFT1 0. 07 0. 09 — PA-1000
QR ErRTEED 0.14 0.14 — PA-1000
@R ERRED 0. 23 0.16 — PA-1000

12255)@) ORBEILRER 0.16 0. 15 — PA-1000
OREITEE 0. 20 0.14 — PA-1000
DB 52 0. 09 0. 09 — PA-1000
@IBEXIHA3 0. 08 0.10 — PA-1000
15 0. 09 0. 09 — PA-1000
Ot ER (1) 0. 08 0. 09 — PA-1000
QIBEXIHAT 1 0. 06 0. 07 — PA-1000
QK ErRFEED 0.15 0.14 — PA-1000
@R ERRED 0.22 0.14 — PA-1000

11/;(,5*) O EILRED 0.12 0.13 — PA-1000
OREILTEE 0.14 0.13 — PA-1000
DB G2 0. 07 0. 08 — PA-1000
@IBEKIHAT3 0. 08 0.10 — PA-1000
15 0. 08 0.08 — PA-1000
Ot ER (1) 0. 08 0. 08 — PA-1000
QIBERIZFT 1 0. 06 0. 07 — PA-1000
R BER FEED 0.14 0.12 — PA-1000
@ BER R AD 0. 20 0.14 — PA-1000

10/;{7}0 OREILEE 0.14 0.12 — PA-1000
EREILTEE 0. 07 0. 09 — PA-1000
DIEERIEHA2 0. 06 0. 07 — PA-1000
@IBEXIHAT3 0.12 0.19 — PA-1000
15 0. 07 0. 07 — PA-1000
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AUO/PNERIZE TSR ERERR

FrFE : K1 02-2-1

5 254 BE
A - X AEA ARREATR VRS | s %
5cm 50¢cm 100cm
Ot h i ER (1) 0.10 0. 11 — PA-1000
QB E&IGFT1 0. 07 0. 08 — PA-1000
Ot EErITEED 0.12 0. 11 — PA-1000
@ EErRRED 0. 30 0.16 — PA-1000
g/igf)ﬁ) GBI R AR 0. 18 0. 14 — PA-1000
OREILFEL 0.08 0.13 — PA-1000
DIBERIZEFT2 0. 07 0. 09 — PA-1000
@EERIZEFT3 0. 07 0. 09 — PA-1000
ibis 0. 09 0. 08 — PA-1000
O L ER (1) 0.10 0.10 — PA-1000
QIR IZFT1 0. 07 0. 08 — PA-1000
QR EErIFEED 0.12 0. 11 — PA-1000
@ EErRRED 0.15 0. 11 — PA-1000
8/;?) OREILREED 0. 15 0.14 — PA-1000
@RELFEL 0.08 0.10 — PA-1000
DIEERIZFT2 0. 07 0.08 — PA-1000
@®EERIZEFT3 0. 07 0. 09 — PA-1000
ibi5 0. 07 0. 08 — PA-1000
Ot ER (1) 0. 11 0. 11 — PA-1000
QIR IZFT1 0. 07 0.08 — PA-1000
QR ERTEED 0.12 0. 11 — PA-1000
@R ERRED 0.13 0.12 — PA-1000
7/§3XK) OREILTED 0.16 0.14 — PA-1000
OREITEE 0.19 0.17 — PA-1000
DIRERIZFT2 0. 07 0. 08 — PA-1000
@®EERIZFT3 0. 07 0. 08 — PA-1000
15 0. 08 0. 09 — PA-1000
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AUO/PNERIZE TSR ERERR

FrFE : K1 02-2-1

TRk 255F F ‘
AER- X A AERATAL VBT | g s
5cm 50cm 100cm
gt ER (1) 0. 11 0. 11 — PA-1000
QIEERIZFT1 0. 07 0. 09 — PA-1000
QR ErRTEED 0.10 0. 11 — PA-1000
@R ERRED 0.14 0.13 — PA-1000
6/;5%0”@) ORBEILRER 0.17 0.16 — PA-1000
- OREITEE 0. 20 0.17 — PA-1000
DB 52 0. 07 0. 09 — PA-1000
@IBEXIHA3 0. 08 0. 09 — PA-1000
15 0. 09 0. 09 — PA-1000
Ot ER (1) 0.14 0. 11 — PA-1000
QIBEXIHAT 1 0. 07 0. 08 — PA-1000
QK ErRFEED 0.12 0.12 — PA-1000
@R ERRED 0.15 0.13 — PA-1000
5/%;,Ek) O EILRED 0.15 0.13 — PA-1000
OREILTEE 0. 20 0.15 — PA-1000
DB G2 0. 07 0. 08 — PA-1000
@IBEKIHAT3 0.15 0.15 — PA-1000
15 0. 07 0.08 — PA-1000
Ot ER (1) 0. 10 0.10 — PA-1000
QIBERIZFT 1 0. 06 0. 07 — PA-1000
R BER FEED 0. 11 0. 11 — PA-1000
@ BER R AD 0.12 0. 11 — PA-1000
4/;{*) OREILEE 0.17 0.15 — PA-1000
EREILTEE 0.18 0.17 — PA-1000
DB 2 0. 07 0. 08 — PA-1000
@IBEXIHAT3 0. 06 0. 08 — PA-1000
15 0. 07 0. 08 — PA-1000
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AUO/PNERIZE TSR ERERR

FrFE : K1 02-2-1

TRk 244F
Hi| == Hi = Hl E -E 7 I:I: _/{ l/ & s,
AER- BT AERATRMEER) | gyeg ti
5cm 50c¢m 100cm

1FEE(BN) — 0. 09 0. 06 PA-1000
3 130K) BER FHE(BA) — 0. 08 0. 07 PA-1000
IFHE(BA) — 0. 07 0.08 PA-1000
ABEERN) — 0. 06 0. 05 PA-1000
Ot hLER (1) 0. 11 0. 11 — PA-1000
@rbi% 0. 07 0. 09 — PA-1000
QR ER IR 0. 11 0.13 — PA-1000

3.8(%) Bh
: @R ERRER 0.12 0.13 — PA-1000
O EILEER 0. 20 0.17 — PA-1000
O EILFEIR 0. 20 0.16 — PA-1000
Ot hLER (1) 0. 11 0. 11 — PA-1000
@iz 0. 08 0. 09 — PA-1000

A hvd —

2 12(K) BY @#irﬁﬁﬁnrs 0.16 0. 15 — PA-1000
@R ERRER 0.12 0.12 — PA-1000
ORREILTER 0. 20 0.19 — PA-1000
GREEILFER 0. 22 0.16 — PA-1000
Ot rhLER (1) 0. 11 0. 11 — PA-1000
Q5 0. 08 0.10 — PA-1000
QR EERIFEER 0. 11 0. 11 — PA-1000

1.721(8) Bh
" o EmEs 0.15 0. 10 — PA-1000
OREALTER 0.16 0.16 — PA-1000
@A FEER 0. 22 0.16 — PA-1000
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AUO/PNERIZE TSR ERERR

FrfEHE : KiLhA2-2-1

T 244 B
S . BEB (A0 —X)LER) .
AlIZE R X1 I 5E Hh g ATE
|7E B - K% Bl 7E 1t — — T B 25 "%
1FEE(BN) — 0. 07 0. 07 PA-1000
ER255F FHE(BA) — 0. 09 0. 09 PA-1000
1.171(K) Bh [srg=(BW) — 0. 09 0. 08 PA-1000
AEEERN) — 0. 06 0. 05 PA-1000
1FEE(BN) — 0. 06 0. 07 PA-1000
FHE(BA) — 0. 08 0.08 PA-1000
12713 =5
() BN IFHE (BA) — 0. 07 0. 07 PA-1000
AREEERN) — 0. 06 0. 05 PA-1000
Ot hLER (1) 0. 11 0. 11 — PA-1000
@iz 0. 08 0. 09 — PA-1000
QR ER IR 0.16 0. 15 — PA-1000
12.710( =5
B BN o rEmaD 0. 20 0. 16 — PA—1000
O EILEER 0. 20 0.18 — PA-1000
O EILFEER 0. 25 0.14 — PA-1000
Ot hLER (1) 0.13 0.12 — PA-1000
Q15 0. 09 0. 09 — PA-1000
QR ERIFEER 0.17 0. 15 — PA-1000
1115(K) B
A N rEmED 0. 18 0. 15 — PA—1000
ORREILTER 0.18 0.19 — PA-1000
GREEILFER 0. 23 0. 15 — PA-1000
1FERT (BA) —_ 0. 09 0. 08 PA-1000
FHE(BR) — 0. 08 0. 08 PA-1000
11,76 (N B
(x) & IFHE(EA) — 0.08 0. 09 PA-1000
ARBEEERN — 0. 07 0. 06 PA-1000
17/24 (FE17)



AUO/PNERIZE TSR ERERR

FrfEHE : KiLhA2-2-1

RR245EE
e e BAIEE (XA —XN)LNER) .
xR - X1 B FE =R ARE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
1FEE(BN) — 0. 07 0. 08 PA-1000
QFHE(EBMA) — 0. 07 0. 08 PA-1000
10./12(%) B
(&) Wh IFHE(BR) — 0. 09 0. 08 PA-1000
AEE(ERN) — 0. 07 0. 06 PA-1000 10/15(8) BIE
Ot ehER (1) 0.12 0.12 — PA-1000
Q15 0. 08 0. 09 — PA-1000
= |OBRERTE] 0. 24 0.17 — PA-1000
10.79(k) 2L =
(k) &Y @ RErREER 0.19 0.17 — PA-1000
GO EILEREER 0.15 0. 15 — PA-1000
OREEILFAER 0.13 0.14 — PA-1000
1FEZE (BA) — 0.08 0. 07 PA-1000
QFHE(BMA) — 0. 08 0. 08 PA-1000
90./14(&) B
(&) Wh IFHE(BR) — 0. 07 0. 08 PA-1000
ABEEN) — 0. 05 0. 05 PA-1000
Ot chHER (1) 0.13 0. 11 — PA-1000
Qb5 0. 07 0. 09 — PA-1000
QR EERIFEED 0. 21 0.18 — PA-1000
9./10 i
(R) B | Emam 0 16 0. 13 — PA—1000
OREILFER 0. 20 0.17 — PA-1000
OREEILFEER 0.14 0.17 — PA-1000
1FRBE(BRA) —_ 0. 09 0.10 PA-1000
QFHE (BR) — 0. 08 0. 08 PA-1000
813 i3
(A) #h IFHE(BR) — 0. 09 0. 08 PA-1000
ABEEN) — 0. 06 0. 06 PA-1000
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AUO/PNERIZE TSR ERERR

FrFE : K 02-2-1

244
[ == . | == 7EIIIHE1E(7’{7D:/_&}I/|“§H#) | =
/E“EE iﬂ; /,E‘IIITEHEEE\\ 5em 50cm 100cm /EIIIE% ﬁ%%
O DL ER (1) 0.13 0.13 — PA-1000
Qb5 0. 09 0.10 — PA-1000
1 e |OBBERFERD 0.18 0. 20 — PA-1000
U T 0.19 0.16 — PA-1000
OREILEE 0.17 0.18 — PA-1000
©EEILFEAR 0.10 0.18 — PA-1000
IFH=E(BA) — 0. 08 0. 09 PA-1000
=, |2FEEERN) — 0. 08 0. 08 PA-1000
To1s(E) EY FHE (BA) — 0. 09 0. 08 PA-1000
AEE(EN) — 0. 07 0. 07 PA-1000
Ot ER (1) 0. 16 0. 14 — PA-1000
Q15 0. 09 0.10 — PA-1000
- QR ERIFE D 0. 26 0. 21 — PA-1000
78R B I EmR 0.16 0.15 — PA-1000
OREILEE 0. 15 0.18 — PA-1000
©EILFEE 0. 22 0.19 — PA-1000
IFRE(EBA) — 0. 09 0. 08 PA-1000
QFHE (BIN) — 0. 08 0. 08 PA-1000
SFHE (BN) — 0. 08 0.08 PA-1000
AELE(EN) — 0. 07 0. 05 PA-1000
6.712(:k) £Y- |OthgLER () 0.17 0.17 — PA-1000
5] Qb5 0. 10 0. 11 — PA-1000
QR EErIFEED 0. 25 0.19 — PA-1000
O ES: 0.17 0. 16 — PA-1000
OREILTER 0. 25 0. 21 — PA-1000
OREEILFER 0. 22 0. 22 — PA-1000
19/24 (717)



AUO/NERIZE T O R ERERR

FrFE : K1 02-2-1

S R24E B
S— — BIEME (w4700 —~ L) —
/E“E H iﬂ; /,E‘IIITEHEEE\\ Som 50¢m 100¢m /EIIIE% ﬁ%%
6. 150k) T IFRE=E(EA) — 0. 09 0. 09 PA-1000
KEE(ER) — 0. 07 0. 08 PA-1000
Ot ER (1) 0.14 0.14 — PA-1000
Qb5 0.08 0.10 — PA-1000
., |OBERFERD 0.18 0. 21 — PA-1000
SN @R ERRED 0. 25 0.19 — PA-1000
OREILTED 0. 20 0. 21 — PA-1000
OREIFEE 0. 24 0. 22 — PA-1000
1FXBE(BM) — 0. 09 0. 08 PA-1000
FH=E(EN) — 0. 08 0. 08 PA-1000
KEE(ERN) — 0. 05 0. 05 PA-1000
Ot ER (L) 0.16 0.15 — PA-1000
4,18(7k) BN @iz 0.15 0.14 — PA-1000
QK ERTEED 0. 21 0. 20 — PA-1000
@R ERRED 0.18 0. 14 — PA-1000
OREILERE 0. 26 0. 22 — PA-1000
OREILFEL 0. 26 0. 24 — PA-1000
IF&=(BA) — 0. 07 0.08 PA-1000
s 19(H) Bh FHE(BN) — 0. 09 0.10 PA-1000
SFHE(BN) — 0. 09 0. 09 PA-1000
KEE(EN) — 0. 07 0. 07 PA-1000
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RWUBANERIZEITOMETHREREFER

FrFE - K1 02-2-1

G234
| == . EI == 7EIIIHE1E(7’{7D:/_&}I/|“§E#) EI ==
/E“EE iﬂ; /,E‘IIITEHEEE\\ 5em 50cm 100cm /EIIIE% ﬁ%%
O DL ER (1) 0.15 0.15 — PA-1000
Q15 0. 15 0.16 — PA-1000
<, |ORBER TGS 0. 26 0. 21 — PA-1000
L T T 0. 22 0. 21 — PA-1000
OB EILEE 0. 26 0. 22 — PA-1000
©EEALFEAR 0.17 0. 21 — PA-1000
=, |FEBT(ERN) — 0. 05 0. 05 PA-1000
2713(R) &Y 2QFER T (BA) — 0. 09 0. 08 PA-1000
O ER (1) — 0. 16 0. 16 PA-1000
Q15 0.15 0. 15 — PA-1000
=1 |ORERBED — 0.17 — PA-1000
2780k &Y DR BERI R ED — 0. 20 — PA-1000
OREILEE — 0. 23 — PA-1000
©EILFEE — 0. 24 — PA-1000
1FOE—(BR) — 0.10 0.10 PA-1000
1180K) BN |2F&%=(BW) — 0.10 0. 09 PA-1000
AEE(EN) — 0. 07 0. 09 PA-1000
O ER (1) — 0. 19 0.18 PA-1000
Q15 0.14 0.17 — PA-1000
FRE24%E QR EErIFEED — 0. 23 — PA-1000
1.716(R) Y |@EmEL — 0. 18 — PA-1000
OREILEE — 0. 21 — PA-1000
®REILFEED — 0. 23 — PA-1000
IFERT (BR) — 0. 08 — PA-1000
+.. |2FER T (BA) — 0. 05 — PA-1000
12715(%) Bn FERT (BA) — 0. 08 _ PA-1000
AELE(ERN) — 0. 07 — PA-1000
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FRR234ERE
gy = g = AEME (XA 70—~ )LHEE) !
piil . [k HAlEH S SHIE
Al H - K% Bl 7 1t S ST — Bl 7E 25 HZ
= |2FE&ZE(BN) — 0. 08 — PA-1000
1214 £

k) / ABEEN) — 0. 07 — PA-1000
&R () — 0.16 0.16 PA-1000
b5 0.14 — — PA-1000

12713() BE - -

(%) Twn TS5OURBEEARDT — 0. 26 — PA-1000
REEEE — 0.24 — PA-1000
AKEEBERADT — 0. 30 — PA-1000

11.724(K) Bh |[AEEEE — 0. 32 — PA-1000
N—EBRARDT — 0. 29 — PA-1000
1FHE(BN) — 0. 08 — PA-1000
FHE(BA) — 0. 09 — PA-1000

11.7220K) B

720K) B FHE (BN) — 0.10 — PA-1000
AEEEN) — 0. 08 — PA-1000

1 14(B) BEh Eh b ER () — 0.16 0.16 PA-1000

fbi5 0.13 — — PA-1000
10260K) BER Eh b ER () — 0.19 0.18 PA-1000
fbi5 0.12 — — PA-1000
1F&ZE (BA) — 0.10 — PA-1000
QFHE(BA) — 0. 09 — PA-1000
IFHE(EBA) — 0. 09 — PA-1000
AEE(EN) — 0. 08 — PA-1000
10720(KR) =Y |BHEEg{lE — 0. 28 — PA-1000
eIl — 0. 24 — PA-1000
MEL — 0. 25 — PA-1000
BiEFRE = AIE — 0.19 — PA-1000
1EF94E{EE — 0. 22 — PA-1000
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FRR234ERE
S . BIEE(RAoOS—XN)LER) .
Nzl . I Nzl £ IEI];Eﬂ_ N I,---|
= |ButdER (L) — 0. 21 0. 20 PA-1000
10719 =l
() ! b5 0.12 — — PA-1000
&R () — 0. 20 0. 20 PA-1000
10712 B
i 0. .13 — — PA-1000
=, |BthebER (L) — 0. 21 0. 20 PA-1000
1075 =
(2 / b5 0.16 — — PA-1000
&R () — 0. 23 0. 22 PA-1000
9,28 &
I 0. 16 — — PA-1000
= |ButenE (L) — 0.19 0.18 PA-1000
9,722 21
() ) fibi5 0.15 — — PA-1000
1FEZE (BA) — 0.10 — PA-1000
QFHE(BMA) — 0. 09 — PA-1000
IFHE(BA) — 0. 09 — PA-1000
ABEEN) — 0. 09 — PA-1000
9.7200:k) =Y |BiErEalE — 0. 21 — PA-1000
Il — 0. 25 — PA-1000
mEL — 0.19 — PA-1000
BIRECHEEHEAIE — 0. 24 — PA-1000
EFEAE — 0. 29 — PA-1000
b ER (L) — 0. 20 0. 20 PA-1000
9./14 {5
/140K) BER 15 0.16 — — PA-1000
b ER (L) — 0. 22 0. 21 PA-1000
9,7 i3
/70K) B 15 0.16 — — PA-1000
N _ _
8.30(d) B %&i’fqﬂmnﬂ(i) 0. 23 0. 22 PA-1000
fbi5 0.15 — — PA-1000
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JRR234ERE
SHI . I Nl &5 4 Rl =
/E]EE 9&1; /,E‘IITEHE,.“ 5om 50cm 100cm /EIIIE% ﬁ%%
1IFR=E(BRA) — 0. 09 — PA-1000
QFHE(EBA) — 0. 09 — PA-1000
8.726(&) M
/26(%) BN FHE (BM) — 0. 09 — PA-1000
ARBEEN) — 0. 06 — PA-1000
o ER (L) — 0. 20 0.18 PA-1000
8,724 &
C240K) BN e 0. 14 — — PA-1000
o HER (L) — 0.16 0.16 PA-1000
817 &
S 0. 14 — — PA-1000
o OER (L) — 0. 21 0. 21 PA-1000
10 &
8/100K) ERh wis 0.17 — — PA-1000
= Eih b ER () — 0.22 0. 21 PA-1000
=1l
8730k &Y fibi5 0.16 — — PA-1000
= Eih b ER () — 0.22 0.22 PA-1000
7./21 £l
/210K &Y fibi5 0.19 — — PA-1000
= Eih b ER () — 0. 21 0. 20 PA-1000
7./20 £l
200K &Y fibi5 0.17 — — PA-1000
1/11(8) Bn |EuhdibEi(x) — 0.27 0. 36 RDS-30
174(8) Y Bt (L) — 0. 23 0. 28 RDS-30
6.727(8) Y |&uthghER (L) — 0. 23 0. 33 RDS-30
- B ER () — 0. 30 0. 31 RDS-30
20 =Ll
6-20(7) =Y fibi5 0. 22 — — RDS-30
TERk23% B ER () — 0. 25 0. 25 RDS-30
6713(A) &Y [mi5 0. 26 — — RDS-30
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